1X2:2
2X2:4
3X2:6
4X2:8
sX2:10
6X2:12
TX2:14
ax2:16
9X2:18
10X 2:20

1X3:3
2X3:6
3X3:9
4X3:12
SX3:15
6X3:18
TX3:21
8X3:24
9X3:27
10X 3: 30

1X4:4
2X4:8
3xX4:12
4X4:16
S5X4:20
6X4:24
TX4:28
8xX4:32
89X4:36
10X 4: 40

1X5:5
2X56: 10
3X5:15
4X5:20
SX5:25
6X5: 30
7X5:35
8X5:40
9X5:45
10 X 5: 50

2X6:12
3X6:19
4X6:24
5X6: 30
6EX6:36
TX6:42
BX6:48
9X6:54
10X 6: 60

-

2XT:14

3XT:21
4X7:28
5X7:35
GXT:a2
TXT:49
BXT7:56
8XT:63
10X 7:70

2XB: 16
3X8B:24
4X8:32
5XB: 40
6G6XB: 48
TXB:56
8X8:64
axXB:72

2X9:18
3INA9:27
4X9:386
5§X09:45
6X9:54
TX9:63
BX9:72
9X9:81
10X 6: 90

Ilﬂi MULTIPLICAR

1 =

1X10:10
2X10: 20
3X10:30
4X10: 40
§X 10: 50
66X 10: 80
TX10: 70
8X10:80
9X10:90
10 X 10: 100

CUaLQUER
HUMERO
MULTIPLICADO
POR CERD
DA COMO PRODUCTO
CERO.

LOUE ES UNA TaBLA [T
DE MULTIPLICART?

LAE TRELARE DE MULTIFLECAR




